RESOLUTION NO. 21779 (N.C.S.)

A RESOLUTION AWARDING A CONTRACT TO MONTEREY PENINSULA ENGINEERING FOR THE MAIN STREET STREETSCAPE PROJECT, CIP NO. 9230; AND ALLOCATING \$262,200 FROM THE GENERAL FUND TO THE MAIN STREET STREETSCAPE PROJECT, CIP NO. 9230

WHEREAS, the Salinas City Council adopted the Downtown Vibrancy Plan in 2015 and approved the Main Street Master Plan in October 2017; and

WHEREAS, representatives of the City Clerk of Salinas on December 10, 2019, at a public meeting held in the West Wing Conference Room at Salinas City Hall, at Salinas, California, publicly opened, examined, and declared all bids or proposals delivered to or filed with said City Clerk for the Main Street Streetscape Project, CIP No. 9230 in accordance with the specifications for such work filed in the office of said City Clerk on October 22, 2019 and now on file in said office; and

WHEREAS, the City of Salinas and Salinas Rotary: The Downtown Club have committed to funding the District Arch which is included in the Main Street Streetscape Project plans; and

WHEREAS, City staff thereupon reported the results of the bidding to the City Council at its regular meeting on January 21, 2020, and the Council in open session at said meeting examined the report of staff; and

NOW, THEREFORE, BE IT RESOLVED that pursuant to Salinas Municipal Code Section 12-21, in reference to the Main Street Streetscape Project, CIP No. 9230, that all of said bids or proposals are rejected except the bid from Monterey Peninsula Engineering, (hereinafter referred to as "Successful Bidders"), being the lowest and best bid which is hereby accepted (Base Bid plus Additive Alternate 1 and Additive Alternate 2). The subject contract is hereby awarded to said Successful Bidder for the sum of \$7,896,492, and more specifically at the unit prices particularly set forth and contained in the Proposal for the Main Street Streetscape Project, CIP No. 9230, of said successful bidders previously filed in the office of the City Clerk. Said sum shall be paid by the City of Salinas to said Successful Bidder in cash, lawful money of the United States of America, payable at the time and manner specified in the plans and specification and contract documents for the project filed in the office of the City Clerk, entitled "Main Street Streetscape Project, CIP No. 9230."

BE IT FURTHER RESOLVED that said plans and specification are hereby referred to for all the details and particulars thereof, and said plans and specification are by reference incorporated in and hereby made part of this resolution.

BE IT FURTHER RESOLVED that the Mayor of Salinas is hereby authorized and directed on behalf of the City of Salinas to execute a contract consistent with the Proposal of said Successful Bidder for said work.

BE IT FURTHER RESOLVED that the Council hereby approves the allocation of

\$262,200 from the General Fund to CIP 9230 as matching funds with the Salinas Rotary: The Downtown Club for the District Arch.

PASSED AND APPROVED this 21st day of January 2020, by the following vote:

AYES: Councilmembers: Barrera, Cromeenes, Davis, De La Rosa, McShane, Villegas and Mayor Gunter

NOES: None

ABSENT: None

ABSTAIN: None

APPROVED:

DocuSigned by:

Joe Hunter

D3A49BD817A34AA...

Joe Gunter, Mayor

ATTEST:

DocuSigned by:

Patricia M. Barajas, City Clerk

BID OPENING: Dec. 10, 2019

BID TABULATION
MAIN STREET STREETSCAPE PROJECT

CONTRACTOR #3

CONTRACTOR #2

Bid awarded on <u>January 21, 2020</u> by Salinas City Council by Resolution No. <u>21779</u> (NCS) to:

Monterey Peninsula Engineering, for for the sum of \$7,896,492 (BaseBid + Add-Alt #1 + Add-Alt #2).

Dated this 21 day of <u>January</u>, 2020 — DocuSigned by:

200

8221 Drawing No. Project Manager: Patrick Fung

CONTRACTOR #4

PROJECT No. 9230

CONTRACTOR #5

									cific Engineering		1011/10		-		
	EDE24E0636A6422						ninsula Engineering	Construction, Inc.		The Don Chapin Company Inc.		A. Teichert & Sons, Inc		Granite Rock Company	
	City Clerk		_				192 Healy Ave		*	560 Crazy Horse Canyon Rd		400 Sunrise Ave. Suite 300		5225 Hellyer Ave. Suite 220	
				ENGINEER'S ESTIMATE		Marina Ca 93933		Santa Clara Ca. 95054		Salinas Ca 93907		Sacramento Ca, 95661		San Jose, Ca. 95138	
ITEM ITEM		APPROXIMATE	1	UNIT	IIVIAIE	UNIT		UNIT	a Oa. 33034	UNIT		UNIT		UNIT	
NO. CODE	DESCRIPTION	QUANTITY	UNIT	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
	BASE BID														
1 11-1	Mobilization / Demobilization	1	LS ;	\$ 568,800.00	\$ 568,800.00	\$350,000.00		\$350,000.00 \$	350,000.00	\$140,000.00 \$		\$1,000,000.00	\$ 1,000,000.00	,	614,037.00
2 5-1	Field Office	10	MO.	\$ 7,500.00	\$ 75,000.00	\$3,000.00	\$ 30,000.00	\$9,000.00 \$		\$2,000.00 \$	20,000.00	\$8,000.00		\$3,200.00 \$	32,000.00
3 10-1	Progress Schedule (Critical Path Method)	1	LS :	\$ 67,000.00	, ,	\$5,600.00	\$ 5,600.00	\$8,000.00 \$		\$12,000.00 \$	12,000.00	\$5,000.00			15,000.00
	Public Convenience - Traffic Control and Stage Construction	1	LS S	\$ 334,600.00		\$320,000.00	\$ 320,000.00	\$85,000.00 \$		\$260,000.00 \$	260,000.00	\$700,000.00			345,500.00
5 10-1	Development of SWPPP and Filing of Notice-of-Intent including Payment of Fees Erosion Control and SWPPP implementation, including Maintenance, Management, and	1	LS :	\$ 10,000.00	\$ 10,000.00	\$2,500.00	\$ 2,500.00	\$1,200.00 \$		\$5,200.00 \$	5,200.00	\$5,000.00	5,000.00	\$4,000.00 \$	4,000.00
6 10-1	Compliance	1	LS :	\$ 200,800.00	\$ 200,800.00	\$105,000.00	\$ 105,000.00	\$20,000.00 \$	20,000.00	\$69,000.00 \$	69,000.00	\$100,000.00	100,000.00	\$45,000.00 \$	45,000.00
7 10-1	Rain Event Action Plan and Implementation (Each Rain Event)	10	EA :	\$ 5,000.00	\$ 50,000.00	\$550.00	\$ 5,500.00	\$80.00 \$	800.00	\$13.00 \$	130.00	\$250.00	2,500.00	\$50.00 \$	500.00
	Storm Water Sampling and Analysis (Each Qualifying Rain Event)	10	EA S	\$ 1,500.00		\$550.00	\$ 5,500.00	\$120.00 \$		\$600.00 \$	6,000.00	\$250.00		\$50.00 \$	500.00
	Annual Stormwater Reports and Payment of Annual Fees	1	EA S	\$ 1,500.00		\$2,800.00	\$ 2,800.00	\$700.00 \$		\$3,000.00 \$	3,000.00	\$500.00		\$5,000.00 \$	5,000.00
10 12-3	Clearing and Grubbing and Removal of Existing Highway and Roadway Facilities	1	LS S	\$ 1,372,570.00	\$ 1,372,570.00	\$500,000.00	\$ 500,000.00	\$908,000.00 \$	908,000.00	\$685,000.00 \$	685,000.00	\$750,000.00	750,000.00	\$946,750.00 \$	946,750.00
	Remove and Salvage Existing Planter Art of Existing Seat Wall	1	EA :	\$ 1,000.00		\$1,700.00	\$ 1,700.00	\$500.00 \$		\$120.00 \$	120.00	\$3,500.00		\$950.00 \$	950.00
	Remove and Salvage Existing Bollard	9	EA S	\$ 50.00		\$495.00	\$ 4,455.00	\$90.00 \$		\$170.00 \$	1,530.00	\$400.00		\$500.00 \$	4,500.00
13 12-3	Coordinate UPS Drop Bin Removal and Salvage	1	EA S	\$ 200.00		\$555.00	\$ 555.00	\$1,000.00 \$	1,000.00		200.00	\$1,800.00		\$950.00 \$	950.00
	Coordinate USPS Drop Bin Removal and Salvage	1 7	EA S	\$ 200.00		\$555.00	\$ 555.00	\$1,000.00 \$			200.00	\$1,800.00		\$950.00 \$	950.00
	Remove and Salvage Existing Bike Rack (Coordinate with City RE) Remove and Salvage Existing Trash Receptacle	2	EA S	\$ 450.00 \$ 300.00		\$635.00 \$555.00	\$ 4,445.00 \$ 1,110.00	\$200.00 \$ \$200.00 \$	1,400.00 400.00	\$150.00 \$ \$200.00 \$	1,050.00 400.00	\$1,000.00 \$ \$850.00 \$		\$450.00 \$ \$575.00 \$	3,150.00 1,150.00
	Remove and Salvage Existing Trash Receptable Remove and Salvage Existing Fence	<u>2</u> 55	LF S	\$ 7.00		\$555.00	\$ 1,110.00 \$ 1,100.00	\$200.00 \$	550.00		1,100.00	\$100.00		\$21.00 \$	1,150.00
	Remove and Salvage Existing Nail or Parcel Dropbox	3	EA S	\$ 300.00		\$750.00	\$ 1,100.00	\$500.00 \$	1,500.00		900.00	\$1,200.00		\$325.00 \$	975.00
19 12-1	Unclassified Excavation	1	LS :	\$ 76,500.00	\$ 76,500.00	\$350,000.00	\$ 350,000.00		235,000.00		425,000.00				819,870.00
20 12-10	Furnish and Install GlasPave 25 (or Approved Equal)	240	SY :	\$ 5.00	,	\$155.00	\$ 37,200.00	\$30.00 \$	7,200.00	\$69.00 \$	16,560.00	\$35.00		\$25.00 \$	6,000.00
21 12-4	Construct 0" Curb and Gutter (COSSD STD No. 1, Type C)	865	LF :	\$ 30.00	\$ 25,950.00	\$71.00	\$ 61,415.00	\$42.00 \$	36,330.00	\$55.00 \$	47,575.00	\$40.00	34,600.00	\$73.50 \$	63,577.50
22 12-4	Construct 6" Curb and Gutter (COSSD STD No. 1, Type C)	285	LF ;	\$ 40.00	\$ 11,400.00	\$89.00	\$ 25,365.00	\$45.00 \$	12,825.00	\$55.00 \$	15,675.00	\$60.00	\$ 17,100.00	\$83.50 \$	23,797.50
	Construct Variable Height Curb (4" Min, 9" Max)	1,870	LF S	\$ 45.00		\$55.00	\$ 102,850.00	\$50.00 \$	93,500.00	\$55.00 \$	102,850.00	\$65.00		\$72.50 \$	135,575.00
	Install Detectable Yellow Warning Surface (COSSD STD No. 4A & 4B)	865	SF \$	\$ 25.00	,	\$33.00	\$ 28,545.00	\$55.00 \$	47,575.00		20,760.00	\$60.00		\$45.00 \$	38,925.00
	Construct HMA Pavement (COSSD STD No.3)	1,827	TON S	\$ 165.00		\$191.00	\$ 348,957.00	\$180.00 \$	328,860.00	\$150.00 \$	274,050.00	\$160.00		\$155.00 \$	283,185.00
	Class 2 Aggregate Base	2,543	CY S	\$ 95.00 \$ 200.00	,	\$51.00 \$400.00	\$ 129,693.00	\$110.00 \$ \$100.00 \$	279,730.00	\$85.00 \$ \$500.00 \$	216,155.00	\$80.00 S		\$110.00 \$ \$215.00 \$	279,730.00
27 12-12 28 12-4	Furnish and Install Concrete Wheel Stop Construct Concrete Walk-Off	230	EA S	\$ 200.00		\$21.00	\$ 800.00 \$ 4,830.00	\$60.00 \$		\$500.00 \$	1,000.00 11,500.00	\$30.00		\$53.00 \$	430.00 12,190.00
29 12-4	Construct Concrete Sidewalk, Color, Texture, and Joint pattern to Match Existing	1,120	SF S	\$ 22.00	,	\$16.00	\$ 17,920.00	\$22.00 \$	24,640.00	\$20.00 \$	22,400.00	\$40.00		\$13.00 \$	14,560.00
30 12-4	Construct Pedestrian Curb Ramp (All Types)	3	EA S	\$ 3,400.00	,	\$5,700.00	\$ 17,100.00	\$8,000.00 \$			7,200.00	\$2,000.00		\$5,895.00 \$	17,685.00
	Furnish and Install Type II Slurry Seal	1	LS	\$ 12,000.00	\$ 12,000.00	\$31,000.00	\$ 31,000.00	\$40,000.00 \$	40,000.00	\$38,000.00 \$	38,000.00	\$25,000.00		\$20,000.00 \$	20,000.00
32 12-6	Install NDS 4" Cleanout	44	EA S	\$ 250.00	\$ 11,000.00	\$630.00	\$ 27,720.00	\$150.00 \$	6,600.00	\$130.00 \$	5,720.00	\$500.00		\$325.00 \$	14,300.00
33 12-5	Install NDS 9" x 9" Green Atrium Grate	3	EA :	\$ 500.00		\$855.00	\$ 2,565.00	\$300.00 \$	900.00	\$400.00 \$	1,200.00	\$500.00		\$495.00 \$	1,485.00
34 12-5	Install 12" RCP Storm Drain	113	LF S	\$ 165.00	,	\$175.00	\$ 19,775.00	\$160.00 \$		\$200.00 \$	22,600.00	\$225.00		\$295.00 \$	33,335.00
35 12-5	Install 15" RCP Storm Drain	690	LF :	\$ 180.00		\$180.00	\$ 124,200.00	\$170.00 \$			151,800.00	\$200.00		\$240.00 \$	165,600.00
36 12-5	Install 4" PVC Storm Drain	105	LF S	\$ 40.00	,	\$83.00	\$ 8,715.00	\$100.00 \$		\$80.00 \$	8,400.00	\$150.00		\$406.00 \$	42,630.00
37 12-5	Install 8" PVC Tee Install 8" PVC Storm Drain	1,230	EA S	\$ 100.00 \$ 60.00		\$595.00 \$106.00	\$ 595.00 \$ 130,380.00	\$300.00 \$ \$105.00 \$		\$200.00 \$ \$100.00 \$	200.00 123,000.00	\$300.00 \$ \$150.00 \$		\$360.00 \$ \$75.00 \$	360.00 92,250.00
38 12-5 39 12-5	Install 8" x 4" PVC Tee	34	EA S	\$ 120.00		\$355.00	\$ 130,360.00	\$200.00 \$		\$100.00 \$	1,700.00	\$250.00		\$160.00 \$	5,440.00
40 12-5	Install PVC Bend and Cleanout (Storm)	21	EA S	\$ 150.00	,	\$450.00	\$ 9,450.00	\$300.00 \$		\$500.00 \$	10,500.00	\$500.00		\$505.00 \$	10,605.00
	Install Insert-A-Tee	5	EA S	\$ 250.00		\$1,180.00	\$ 5,900.00	\$350.00 \$		\$800.00 \$	4,000.00	\$1,000.00		\$1,250.00 \$	6,250.00
	Construct Type D Curb Inlet (COSSD No. 22) with Flogard Catch Basin Insert Filter				,	. ,	•		*				,		,
42 12-6	Model FGP48CI	12	EA S	\$ 6,500.00	\$ 78,000.00	\$10,000.00	\$ 120,000.00	\$8,000.00 \$	96,000.00	\$7,800.00 \$	93,600.00	\$5,000.00	60,000.00	\$6,775.00 \$	81,300.00
	Construct Type A Manhole (COSSD No. 25)	11	EA S	\$ 8,500.00	\$ 93,500.00	\$13,550.00	\$ 149,050.00				74,800.00			\$6,700.00 \$	73,700.00
	Install NDS 12"x12" Green Atrium Grate	2	EA S	\$ 600.00		\$1,300.00	\$ 2,600.00				1,140.00			\$805.00 \$	1,610.00
	Install Flogard Catch Basin Combination Inlet Filter Insert	3	EA S	\$ 500.00											5,250.00
	Install Flogard Catch Basin Grate Inlet Filter Insert	3	EA S	\$ 500.00	,	\$8,260.00	\$ 24,780.00								4,365.00
	Install 12" NDS Cleanout with Black Traffic Rated Grate	1	EA S	\$ 600.00			\$ 1,350.00								1,015.00
	Install 18" NDS Cleanout with Black Traffic Rated Grate Install Copper Water Service (Match Existing Size)	1 1,505	EA S	\$ 650.00 \$ 40.00		\$2,500.00 \$127.00	\$ 2,500.00 \$ 191,135.00								1,125.00 164,045.00
	Install Neenah R-4937 Frame and Grate Basement Air Vent	38	EA S	\$ 150.00		\$450.00	\$ 191,135.00				13,680.00				29,260.00
	Electrical and Lighting Systems, Complete-in-Place	1	LS	\$ 647,251.00		\$890,000.00		\$845,000.00 \$		\$1,160,000.00 \$				\$946,600.00 \$	946,600.00
	Traffic Signal Modifications	1	LS S	\$ 425,000.00		\$510,000.00		\$485,000.00 \$						\$398,400.00 \$	398,400.00
	Construct Main Street Theme Column	10	EA	\$12,000.00						\$15,000.00 \$		\$16,000.00		\$160,000.00 \$	1,600,000.00
54 12-8	Construct Main Street Wayfinding Signage	7	EA	\$9,500.00			\$ 44,100.00	\$11,500.00 \$	80,500.00	\$15,000.00 \$					83,370.00
	Furnish and Install 48" Box Tree	58	EA	\$1,500.00			\$ 191,400.00					\$3,000.00			171,100.00
	Furnish and Install Root Barrier	1,920	LF	\$10.00		\$16.00	\$ 30,720.00				61,440.00	\$10.00		\$9.00 \$	17,280.00
	Furnish and Install 5 Gallon Shrub	1,309	EA	\$40.00		\$38.00	\$ 49,742.00								65,450.00
58 12-8	Furnish and Install DG Mulch	7,055	SF	\$5.00		\$2.00	\$ 14,110.00				35,275.00				21,165.00
	Landscape and Irrigation Maintenance Period	1	LS	\$40,000.00											12,000.00 194,290.00
0U 12-8	Install Irrigation System, Complete-in-Place	1	LS	\$125,000.00	φ 125,000.00	\$210,000.00	φ 210,000.00	\$220,000.00 \$	220,000.00	\$255,000.00 \$	255,000.00	\$220,000.00	\$ 220,000.00	\$194,290.00 \$	194,290.00

CONTRACTOR #1

BID TABULATION
PROJECT No. 9230
MAIN STREET STREETSCAPE PROJECT

BID OPENING: Dec. 10, 2019

							CON'	TRACTOR #1	CONT	FRACTOR #2	CONTRACTOR #3 CONTRACTOR #4				CONTRACTOR #5	
							Δr		Anderson Pacific Engineering							
							Monterey Peninsula Engineering 192 Healy Ave		Construction, Inc.		The Don Chapin Company inc.		*		Granite Rock Company 5225 Hellyer Ave. Suite 220	
				Ī	ENGIN	ER'S	Marina Ca 93933		1390 Norman Avenue		560 Crazy Horse Canyon Rd Salinas Ca 93907		Sacramento Ca, 95661		San Jose, Ca. 95138	
Jan. 1	ITE 1		ADDDCVIII	!	ESTIN	IATE			Santa Clara Ca. 95054					22, 23001	,	
ITEM NO.	CODE	DESCRIPTION	APPROXIMATE QUANTITY	UNIT	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
61	12-4	Construct Standard Gray Type A Concrete Pavement With Medium Broom Finish.	24,350	SF	\$17.00	\$ 413,950.00	\$16.00	\$ 389,600.00	\$30.00	\$ 730,500.00	\$20.00	\$ 487,000.00	\$20.00	\$ 487,000.00	\$23.00	\$ 560,050.00
01	12-4	(Pedestrian)	24,330	эг	\$17.00	413,930.00	\$10.00	φ 369,000.00	\$30.00	φ 730,300.00	\$20.00	467,000.00	\$20.00	\$ 467,000.00	φ23.00	φ 500,050.00
62	12-4	Construct Standard Gray Type A Concrete Pavement With Medium Broom Finish. (Vehicular)	3,100	SF	\$17.00	\$ 52,700.00	\$19.00	\$ 58,900.00	\$36.00	\$ 111,600.00	\$45.00	\$ 139,500.00	\$30.00	\$ 93,000.00	\$24.00	\$ 74,400.00
63	12-4	Construct Standard Gray Type B Concrete Pavement With Grace Construction Products, Top-Cast #50 Canary-Green (1/8"-3/8") Finish (Pedestrian)	7,740	SF	\$20.00	\$ 154,800.00	\$18.00	\$ 139,320.00	\$45.00	\$ 348,300.00	\$12.00	\$ 92,880.00	\$22.00	\$ 170,280.00	\$21.00	\$ 162,540.00
64	12-4	Furnish and Install Modular Pavers Type A - Pedestrian. Manufacturer/ Model: Akerstone - 6"x6" 60mm (Match Existing, Or Approved Equal), Color: Charcoal, Pattern: Running Bond.	4,300	SF	\$12.00	\$ 51,600.00	\$39.00	\$ 167,700.00	\$35.00	\$ 150,500.00	\$44.00	\$ 189,200.00	\$40.00	\$ 172,000.00	\$44.00	\$ 189,200.00
65	12-4	Furnish and Install Modular Pavers Type A - Vehicular. Manufacturer/ Model: Akerstone - 6"x6" 80mm (Match Existing, Or Approved Equal), Color: Charcoal, Pattern: Running Bond.,	850	SF	\$15.00	\$ 12,750.00	\$46.00	\$ 39,100.00	\$60.00	\$ 51,000.00	\$52.00	\$ 44,200.00	\$80.00	\$ 68,000.00	\$64.00	\$ 54,400.00
66	12-4	Furnish and Install Modular Pavers Type B - Pedestrian. Manufacturer/ Model: Akerstone - Combo Stone 60mm Tumbled (Match Existing, Or Approved Equal). Color: Desert Blend, Pattern: Random.	5,430	SF	\$12.00	\$ 65,160.00	\$29.00	\$ 157,470.00	\$26.00	\$ 141,180.00	\$30.00	\$ 162,900.00	\$45.00	\$ 244,350.00	\$25.00	\$ 135,750.00
67		Furnish and Install Modular Pavers Type B - Vehicular. Manufacturer/ Model: Akerstone - Combo Stone 80mm Tumbled (Match Existing, Or Approved Equal). Color: Desert Blend, Pattern: Random.	11,760	SF	\$15.00	\$ 176,400.00	\$42.00	,	\$57.00		\$47.00	. ,	\$53.00	•	\$46.00	,
68	12-4	Construct Concrete Header At Tree Well	96	LF	\$15.00	\$ 1,440.00	\$120.00		\$80.00		\$200.00	\$ 19,200.00	\$250.00	\$ 24,000.00	\$100.00	\$ 9,600.00
69	12-9	Furnish and Install Café Table and Chairs	16	EA	\$5,000.00	\$ 80,000.00 \$ 4,000.00	\$2,400.00 \$385.00		\$1,000.00 \$2,100.00		\$2,300.00	\$ 36,800.00	\$2,700.00	\$ 43,200.00	\$2,875.00	\$ 46,000.00
70	12-9	Install Outdoor Furniture Anchor Tie Down Furnish and Install Bench	16 66	EA EA	\$250.00 \$3,500.00	\$ 4,000.00	\$385.00 \$3,000.00		\$2,100.00 \$1,500.00		\$750.00 \$ \$2,800.00 \$. ,	\$700.00 \$2,700.00	\$ 11,200.00 \$ 178,200.00	\$485.00 \$2,415.00	\$ 7,760.00 \$ 159,390.00
72	12-9 12-9	Furnish and Install Bike Rack	29	EA	\$3,500.00	\$ 231,000.00	\$3,000.00	· · · · · · · · · · · · · · · · · · ·	\$1,350.00		\$2,800.00	\$ 184,800.00	\$2,700.00	\$ 178,200.00	\$2,415.00	\$ 159,390.00 \$ 27,550.00
73	12-9	Furnish and Install Trash Receptacle "A"	19	EA	\$5,000.00	\$ 95,000.00	\$7,900.00		\$550.00		\$7,300.00		\$6,500.00	\$ 123,500.00	\$6,165.00	\$ 27,330.00 \$ 117,135.00
74	12-9	Install Bollard Type "A" - Removable	30	EA	\$2,000.00	\$ 60,000.00	\$1,700.00		\$1,600.00		\$950.00	\$ 28,500.00	\$1,200.00	\$ 36,000.00	\$2,275.00	\$ 68,250.00
75	12-9	Install Bollard Type "B" - Fixed	2	EA	\$2,000.00	\$ 4,000.00	\$1,600.00		\$750.00		\$1,100.00	\$ 2,200.00	\$1,200.00	\$ 2,400.00	\$2,185.00	\$ 4,370.00
76	13	Striping and Signage, Complete-In-Place	1	LS	\$45,406.50	\$ 45,406.50	\$51,000.00	\$ 51,000.00	\$70,000.00	\$ 70,000.00	\$63,000.00	\$ 63,000.00	\$50,000.00	\$ 50,000.00	\$83,350.00	\$ 83,350.00
		TOTAL BASE BID (ITEMS 1-76) (FOR COMPARISON ONLY)				\$7,155,427.50		\$ 7,459,492.00		\$ 7,705,720.00		\$7,816,212.00		\$9,278,455.00		\$ 10,221,877.00
		Additive Alternate No. 1														
77	Att 1	Rotary Arch	1	LS	\$ 600,000.00	\$ 600,000.00	\$405,000.00	\$ 405,000.00	\$595,000.00	\$ 595,000.00	\$550,000.00	\$ 550,000.00	\$410,000.00	\$ 410,000.00	\$660,735.00	\$ 660,735.00
		TOTAL ADD-ALT No 1 (ITEM 77)				\$ 600,000.00		\$ 405,000.00		\$ 595,000.00		\$ 550,000.00		\$ 410,000.00		\$ 660,735.00
		(FOR COMPARISON ONLY)				<u> </u>	<u> </u>	·		·		·		·		·
		Additive Alternate No. 2														
78	Att 1	"SALINAS" Sign	1	LS	\$ 100,000.00	\$ 100,000.00	\$32,000.00	\$ 32,000.00	\$70,000.00	\$ 70,000.00	\$85,000.00	\$ 85,000.00	\$82,000.00	\$ 82,000.00	\$65,732.00	\$ 65,732.00
		TOTAL ADD-ALT No 2 (ITEM 78) (FOR COMPARISON ONLY)				\$ 100,000.00		\$ 32,000.00		\$ 70,000.00		\$ 85,000.00		\$ 82,000.00		\$ 65,732.00
		TOTAL BASE BID + Add-Alt No 1 + ADD-Alt No 2 (ITEMS 1-78) (BASIS OF AWARD) \$7,855,427.50						\$ 7,896,492.00		\$ 8,370,720.00		\$8,451,212.00		\$9,770,455.00		\$ 10,948,344.00
1		ITEMS TO BE SUBMITTED WITH PROPOSAL ON BID OPENI Proposal						ING DATE X			X X		X		X	
2		Addendum No. 1					X		X		X		X		X	
3		Addendum No. 2					X		X		X		X		X	
4		Addendum No. 3							X			X		X		
5		Addendum No. 4 Bid Bond					X X X			X		X X		X		
7		Bid Bond Bidder's Statement of Financial Responsibility Technical Ability and Experience						X X X		X X		X		X X		
8		Insurance Certification						X	×		X		X		X	
9		Non-Collusion Declaration of Contractor						Χ	X //		X		X		X	
10		Bidder's Statement of Contractors Part 1						X AFTER BIR OPEN	INO DATE	х	>	(X		Х
11	ITEMS TO BE SUBMITTED BY LOW BIDDER AND SECOND LOWEST BIDDDER ON/OR WITHIN 5 WORKING DAYS AFTER BID OPENING DATE 11 Bidder's Statement Of Subcontractors Part 2 X X X															
12		Non-Collusion Declaration Of Sub-Contractor						X				(
13		Bidder's Statement of Good Faith Effort for Local Hire						X		0	>					
14		Bidder's List For The City Of Salinas Public Works Department						X		>	>	(
<u> </u>																
													<u> </u>			